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A borrower, who is liable for a wounded and dead cow

OVERVIEW

The X n) states that we can derive that a Xw is 2°11 for X" through a 1"p from a
v"w; that if a ¥"w who 1s M from 70M 7M2Y, nevertheless he 1s X"A2 2°m, so a
X1 who is 217 for 7MY AMAW, is certainly 217 for X",

$(9P HNHNN NI4T 2,80 97 ¥9) TIPONNAY (XY Annn 327 2,1 97 xP 8a3) VN YO
I explained it in ©27577 P79 and in 7°pP2R7 P9,

SUMMARY
Elsewhere nooin resolves the issue of 7y12aw X722 X170 ROV 7V12w1 K902,

THINKING IT OVER
Why does '01n allude vaguely to the issue; either he should explain it here, or not
mention it at all?!

! There are those (7T¥2X "1 1311 ') who maintain that 7¥12w3a X9°03 is more 70 than Av1aw X523 X1p. The question is
how can we say that a "X is 211 for X", thereby removing the possibility that he will pay 293 (if it turns out that
he is the 213), we should rather say that he is 15 from X" so he should be 793 2°11. See NvOIN answer there.
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